SB /Lo IV /CBC &S /AvTO /ND- 2019

Paper / Subject Code: 40005 / KINEMATICS OF MACHINERY

 17fAz/44

03 Hrs [Tkj:;a}z arksS()] A

S8

N.B.:

(1) Question No.1 is compulsory &
(2) Attempt any three questions out of remaining five questl\ :
(3) Figures to right indicate full marks
(4) Assume suitable data if necessary.
(5) Notations carry usual meaning.

Q.1 Attempt any four E
What is Kutzback’s criterion for degrees
is Gruebler s criterion dlfferent from /9

mo 0w 2

Q.2A. The mechanism, as sho 14
=DE =150 mm ; BC

06

ing ,2060 r.p.m. Determine the velocity of sliding between the gear teeth 10

_aces at fh pom f engagement, at the pitch point, and at the point of disengagement if
' ear is the driver. Assume that the gear teeth are 20° involute form, addendum
5 mm and the module is 5 mm. Also find the angle through which the pinion

e tum§ wlule any pairs of teeth are in contact.
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Q4 A.

dxrecﬁmi o‘f gear C Whgn‘ ea‘r:B ﬁxed and the arm A makes 100 r.p.m. clockwise

- ofcam 1s30mm stroke»‘
3 @n¢d&elenatmn and descent by simple harmonic motion. Ascent take place by 120° and
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An open belt drive is required to transmit 10KW of power from a métor mmnng at

600rpm. Diameter of the driving pulley is 250mm. The speed ef the driven puﬂey is

10

220rpm. The belt is 12mm thick and has a mass density of 0. 601 g/mm3 Safe? stress in e
the belt is not to exceed 2.5N/ mm®. The two shafts are 1.25.m apﬁrt The meﬁﬁcxem af \

friction is 0.25. Determine the width of the belt.

The mechanism as shown in fig. 2 of a radial valve: gear The cran]( QA tums umformly!
Cin the rod i s gmded inthe cireular S
s_afvmbus links 3:\@ oAMlSO s

at 150 r.p.m and is pinned at A to rod AB. The pmqt
path with D as centre and DC as radlus The d%me

?;So\.

Determme velocity and acceleratlon of:-r"‘the
mechanism. NP

e“f» 30 aﬁd 90 respectively. Find the speed and

A sphere of radius 0. M‘m‘:oumg without slip up an inclined at an angle of 30° with
i f A

o fhehonzont-‘l”lf 'tﬁe' nitial velp sphere 10rad/s. Determine how far sphere will

© tiavel ‘before it revetse mmqti@n

Expfam ch@rdal ‘

e Prove that iﬁevefocﬁy of sltdmg in gears is proportional to the distance of the point of
~contact: flzom the pitch. pémt

. A ¢am is rotating at 300:rpmi operate a reciprocating knife edge follower. The least radius

‘follower is 30mm. Ascent takes place by uniform acclereation

gLeseent «during 90" of cam rotation. Dwell between ascent and descent 30°. Sketch
dx§p1aeement .-velocxty and acceleration.
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